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Time: 50 Minutes
Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

4. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

5. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to scale.
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1) 2x8=? [1%]
2) T7x9=2? [1%]
3) 18+3=7 [1%]
4)  48+6=" [1%]
5) 323+73=2° [1%]
6) 270+288=7 [1%]
7)  658+643=7 [1%]
8) 91-47=7? [1%]
9) 586-54=2? [1%]
10) 927 -278=2? [1%]
11) 103 +251+424=72 [1%0]
12) 886-358-83="17 [1%0]
13) 276 -119+343 =7 [1%0]
14) 3x9+24=2° [1%]
15) 47 x2=72 [1%]
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16) It is six fifteen in the afternoon now. The hour hand and minute [2%0]
hand of the clock form a/an ?
BAEE NI 107 o S DAY ST A o3 S —((E
? 0
A) right angle B) acute angle C) obtuse angle
HA Hir Iy

17)  Every 9 pears are put into a box. If there are 49 pears, at most how  [2.1%]

many boxes can be filled?

BHE & A 9 (EFY - AIRA 49 (EF5L - &2 A&/ D {E 2
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18) A street lamp is 5 m tall, which is 4 cm taller than a tree. How tall  [2.2%]
is the tree in cm?

167 5ok > LIRS 4 DK - e S Dk 2

19)  The museum organized an exhibition. It started from 27" June and ~ [2.3%]
lasted for 3 weeks. On which date did the exhibition end?

HYIEEZRE 7 —e o 6 H 27 HBHMG > i 3 B - =
AW — R4S 2
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20)  Donald has two boxes of leaflets. One box contains 325 leaflets, [2.4%]
which is 275 leaflets less than the other box. How many leaflets
does Donald have?

ARG - —H875 3255k > ths—Fa/b 275 5k - [t
HZ/VIREER?

21)  Each tube of toothpaste costs 28 dollars 40 cents, while each twin [2.5%]
pack of toothpaste costs 52 dollars 80 cents. If Jimmy buys 5 tubes
of toothpaste, at least how much should he pay?

(Give the answer with units)
—XHEE 28 T 4 MR B RIE 52 7T 8 /5 - A12R

BEENE S S s VHEAN 7
(BHRFHEEA)
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22)  There are 432 pens in a stationery shop. 178 of them are red pens [2.6%]
and the rest are blue pens. A teacher buys 47 pencils and 63 blue
pens for his students. How many blue pens are left in the shop?

YRIENA 32 15715 > KA 178 BEALE T2 - HEgA2
ER T - BRIBMAVEAE T 47 Kieth=eM 63 REJR = -
JENER N2/ DREEIR T2 7

23)  Sharon buys a Sudoku puzzle book and she completes 8 puzzles [2.7%]
every day. It takes her a week to finish all the puzzles. At least how

many puzzles are there in the book?

FERE T ARBUEESE > BRE 8 1L T — B ATAE
H - BEENR V2R
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24) A prism has the same number of faces as a pyramid. If all the faces [2.8%]
of the prism have the same shape, the pyramid mustbea __ ?
pyramid.

—{EAERG A —(E SRS A AH F B AT - AR EEAERSHI AT A
AVEMERVIR  EEERNE S 2 -

25)  An artist starts drawing at half past eleven in the morning. It takes  [2.9%]
him 7 minutes to finish drawing a portrait. By twelve twenty-two in
the afternoon, at most how many portraits can he finish?

—REFN AR ES - M5ER— B NG TR
7or8E - HE MR 2 MRS ESERE Vi A&

=7




MathConceptition 2024

26)  Chole and John are standing back-to-back. If the coloured tip of the ~— [3%0]
compass needle points to the left of Chole, then John is facing
the  ?

NEERI/NUETSER IS - ARTGRETHV AR rEEH R/ NERT/E
eI AR Wi R

A) cast B) south C) west D) north
L] E2pa] iEWs] sl
27)  Find the missing number. [3.1%]
P ESR ERYET

555,603 > 528 » 576 > 501 » _? > 474
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28) How many right angles are there in the figure below? [3.2%]
TEHEE 2 EES ?

29)  There is a 4-digit odd number. The sum of the digits in its hundreds [3-3%]
place and units place is 17, while the sum of all its digits is 18.
What is the number?

BH—ErufraE > BAVEAE ST 2/ 17 > TERFT
BHREFZHE 18 o S (w2
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30) A monkey and a gorilla are 550 m apart. The monkey throws a [3.4%]
banana 175 m away, while the gorilla throws another banana 185 m
away. What is the difference between the shortest and longest
possible distances between two bananas in metres?

— &R — SRR 550 0K o R REEME] 175 2K
Ah o TEIEIE S —REREIE] 185 KA - W IR B Z A R
e e Y A BEREREAHZZ 25 /0K 7

31) Find the value of 373 — 456 — 158 + 227 — 444 + 367 + 578. [4%]

3K 373 - 456 — 158 +227 — 444 + 367 + 578 HY{H -
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32) Find the missing number. [4.1%]
ey T -
I I R e R e A I o B R
33)  Each letter represents a 1-digit number. Find X. [4.2%]

BHE IS FEAR B KX -

X Y
X Y
Y Y
Y Z
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34) How tall is the bookshelf in cm? [4.3%]
BRI R S VK ?
El&mg |
35)  If Vivian only uses 5-dollar, 2-dollar, 50-cent and 20-cent coins to ~ [4.4%0]

pay 25 dollars 30 cents for a cup of milkshake, at least how many

coins does she pay?

WFRANGE R ST » 27T ~ S AN 2 AT 17 25t 3 mE—
MrE - i DS 2 DA 2
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36) A souvenir shop sells 3 types of boxed chocolates: packed in 48, 81 [4.5%]
and 121. Danny plans to buy some boxes of chocolates and shares
them with his 6 friends equally without any leftover. At least how
many chocolates should he buy in total?

o) E BE &SR T S AlE 48 firke ~ 81 HIEEA
121 firfe - ZEHTREEREEAR G » WA 6 B2k
m M2 AR T - i/ PRREE S RS ?

37) Find the missing number. [4.6%]
P iR A B
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38) In the figure below, how many rectangles are there? [4.7%]

TEIEZEEGE ?

39) Find the missing figure. [4.8%]
P EZE -
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40) Nis a 3-digit number. When N is added to 455, carrying occurs [4.9%]
only once or twice. How many possible values of N are there?

N Z—E={r % - 81455 DI HA — KW KL - N
DB ETHE(E ?

End of paper
e
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